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Muestre que:

3—4cos(2a) + cos(4ar)
8

a) sent(a) =
(40 puntos).

Solucioén:

Tenemos que:

cos(2a) = cos*(a) — sen?(a) = 1 — 2 sen?(a)

cos?(2a) = [1 — 2sen?(a)][1 — 2 sen?(a)] = 1 — 4 sen?(a) + 4 sent(a)

sen(2a) = 2 sen(«a) cos(a)

sen?(2a) = 4 sen®(a) cos?(a) = 4 sen®(a) [1 — sen?(a)] = 4 sen?(a) — 4 sen(a)
Reemplazando lo anterior, se tiene:

cos(4a) = cos(2(2a)) = cos*(2a) — sen?(2a)

=1 —4sen?(a) +4sen*(a) — 4sen?(a) + 4 sen(a) = 1 — 8sen?(a) + 8 sen(a)

Luego



3—4cos(2a) +cos(4a)  3—4[1—2sen*(a)] + 1—8 sen’(a)+8 sen’ ()
8 T 8

3— 448 sen? 1-8 sen? 8 sen’ 8 sen’
_ +8 sen”(a) + sen’(a)+8sen*(a)  8sen’(a) _ sen4(a) D

3 8

_ 2tg(x
b) sen(2z) = 1+tg(2(i)
(20 puntos).
Solucion:
9 sen(x) 9 sen(x) 9 sen(x)
2tg(x) cos(z) cos(x) _ “eos(x) _ 2sen(z) cos?(x)

1+tg?(x) — sen?(x) — cos?(x)+sen(x) 1 - cos(x

o) 1+COSQEJC§ ((’0)92(7) = cos?(x) )

= 2sen(z) cos(x) = sen(2x) D



